
 

 

Question 1: Do you agree that it would be appropriate for Ofcom to set a maximum DCC across the 
mobile industry on a forward-looking basis? If not, please explain why you disagree. 
 
Yes 
  
 
Question 2: Do you agree with our analysis of the appropriate cost standard and modelling 
approach? If not, please explain why you disagree. 
 
The proposed approach seems reasonable in the circumstances 
  
 
Question 3: Do you agree with our analysis of the relevant types of cost to take into account? If not, 
please explain why you disagree. 
 
We have no comment to make at this time. 
  
 
Question 4: Do you agree with our analysis of the appropriate level of donor conveyance costs (in 
particular the assumption about MSC processor load)? If not, please explain why you disagree. 
 
We have no comment to make at this time. 
  
 
Question 5: Do you agree with our analysis of an efficient cost level? If not, please explain why you 
disagree. 
 
Ofcom’s approach seems reasonable in the circumstances. 
  
 
Question 6: Do you agree with our view that a DCC should not be charged on on-net originated 
traffic? Are there material obstacles to levying DCCs on only off-net originated calls to ported 
numbers? If so, what are those obstacles and what would be necessary (including the scale of likely 
costs) in overcoming them? 
 
[].  
  
 
 
Question 7: If an adjustment were to be made to the DCC to account for the fact that it is charged in 
practice on on-net originated traffic, do you agree with our proposed value for the adjustment factor 
of 70%? If not, please explain why you disagree. 
 
That seems reasonable. 
  
 
  



 

 

Question 8: Do you agree with the period over which we are proposing to set a DCC? If not, please 
explain why you disagree. 
 
Yes. 
  
 
Question 9: Do you have any comments on the wording of the proposed direction in Annex 5 or our 
view that it satisfies the legal tests set out above? 
 
No. 


